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1K  6km EHULRADT LR (R L3RS ~ RERH
£ 2K 4km KRERAT ~ BAEDO
£ 3K 3km BhEED ~ X AETARET
® 4 X 4km AKETAIRET ~ Je8)iLEET
% 5 K 4. 1075km ELEE ~ EXR#FBERSEER
£ 6 KX 4. 0875km ENRMERSER ~ LB HE
£ 7R 4km BB HET ~ AKETFET
£ 8 K 3km AKETFE ~ BhEH
F 9K 10km BHEH ~ IFULRADT LA (T RABRE L3R RIS)
#a|No | K ] & B AT = i %
1| #3H %HE | & |HeARERFETTY) [E—EKHTIL—T 5000m(16'12”69)
2 | RO ZEM | ® [HEANEEEF R7—X 5000m(15'55”46)/10000m(33'41"42)
3| RIR BF | & |HEAFEEEF INFI=H 3000m(9'19"39)/5000m(15'53"50)
41 M BBE | X |HEAFEEEF MHKRE 5000m(15'50"85)/10000m(33'04"54)
5| 8K XE | & |HEAFEEEF FUR K 3000m (9'1953) /5000m(16'00"18)
E | 6| AH B | & [EREEFED?) I EKEEER 1500m (4'33"99) /3000m(9'24"60)
7| HO BRKTF| X |[BREEFE?) FEXFEEFR 1500m (4'30783) /3000m(9'35”29)
8 | hHt TBAF| X |BREEFEI) IBX = & 4 1500m (4'39”66) /3000m(9'42"67)
Flo| FE % | & |EREEFE) ENEARPEEEER 1500m (4'32"81) /3000m(9'43"55)
10| XK DE | & [EREEF(E2) HESEER 1500m (4'39”43) /3000m(9'46” 30)
11 A & @ |hEAEF(F2) B O B T3 T H A 1500m (4'41710) /3000m(9'50"57)
12| K 5% | & [FEEEF(HFI) WRIBRX I FRIFE — R 1500m (4'32"70) /3000m(9'51”51)
13 MR BT | & [hEEEF(HI) IR IR IESE— e 1500m (4'38"75) /3000m(9'55" 39)
14| B &F/E | & |70V 198M&F () LT=F5HAC 1500m (4'33798) /3000m(10'02”51)
15| TW B | B £ HRELRER: BER
16| XB MEF CRE & RRELFRIGSE E5ESE JREAASVZVIF—L
17 &O & 5 |al & HRELRERS BE TRAELEERE TRRILFNEREDER
18| HF 24 | B B & REELRERS EHFES
19 /M gkt | B |BRzEE HRELBRENS BRETOCIIMIRE ERREXSEFR
20 EFR BB g |BRizAvyka—F HRELFEEDS RETOCI/LEIHNE HEDHHILIRDFR
w2 B8 B | % |77 AREEBETHR
22| B8F #HM | B |2—F AT I = hEiR
_ 23| Bk BE | X [XEI—F JPEXREHRS IL—F
Blog| e RE | B |XEx—7F B3I _EKEFFKR
25| B BE | B [XEa—7F BEHJIAC
26| hngE HE | B [XEa—F KJR Legacy
27| A AEF | & [ZFa2—F IS EFR
28| WA [F2& | & |Xiga—F TWO LAPS
29| KiI ER xZ |fL—F— )=7—k
30| EE BF | x [#B REELBRERE E5B




